

$$\frac{r}{\sin n} + \frac{r}{\cos n} = 0 \rightarrow \frac{r \cos n + r \sin n}{\cos n \sin n} = 0$$

$$\tan + \cot = \frac{r}{\sin n} = 0$$

$$\cos n = -\frac{r}{r} \sin n$$

غير معلوم حالت

$$\frac{r}{2} \sin^2 n + \sin^2 n = 1 \rightarrow \frac{1r}{2} \sin^2 n = 1 \rightarrow \sin n = \pm \frac{r}{\sqrt{1r}} \cos n = \pm \frac{r}{\sqrt{1r}}$$

$$\sin^2 n = r \times \frac{r}{\sqrt{1r}} \times \frac{r}{\sqrt{1r}} = -\frac{1r}{1r}$$

$$\frac{r}{-1r} = -\frac{1r}{r}$$

$$\sqrt{1 + \sin 20^\circ} \rightarrow 1 + \cos 10^\circ \rightarrow r \cos 10^\circ$$

$$\frac{\sin 20^\circ + \sin 10^\circ}{\sin(10^\circ + 10^\circ) \sin(10^\circ - 10^\circ)}$$

$$\sqrt{r} |\cos 10^\circ|$$

$$\frac{\sqrt{r} |\cos 10^\circ|}{\sin 10^\circ \cos 10^\circ + \cos 10^\circ \sin 10^\circ + \sin 10^\circ \cos 10^\circ - \cos 10^\circ \sin 10^\circ} = \frac{\sqrt{r} |\cos 10^\circ|}{r \sin 10^\circ \cos 10^\circ} = \frac{\sqrt{r} |\cos 10^\circ|}{\cos 10^\circ} = \sqrt{r}$$

$$\frac{(1 - r \sin^2 20^\circ)}{\frac{1}{2} \sin 10^\circ} \cdot \frac{(r \cos^2 10^\circ - 1)}{\frac{1}{2} \sin 10^\circ} \cdot \frac{(1 - \tan^2 10^\circ)}{\frac{1}{2} \sin 10^\circ}$$

$$\frac{(\sin 10^\circ) \times (\cos 10^\circ) (\cos 10^\circ) (\cos 10^\circ)}{\sin 10^\circ} = \frac{1}{n} \frac{\sin 10^\circ}{\sin 10^\circ} = \frac{1}{n} \cos 10^\circ$$

$$\sin \alpha + r \cos \alpha = r$$

$$2 \cos^2 \alpha - 1r \cos \alpha$$

$$\sin \alpha = r - r \cos \alpha$$

$$\cos^2 \alpha + \sin^2 \alpha = 1 \rightarrow 1 - 1r \cos \alpha + r \cos^2 \alpha + \cos^2 \alpha = 1$$

$$1 - \cos^2 \alpha - 1r \cos \alpha + r = 0 \rightarrow \cos \alpha = \frac{r \pm \sqrt{1r}}{2} \rightarrow \frac{r - \sqrt{1r}}{2}$$

$$2(r \cos^2 \alpha - 1) - 1r \cos \alpha \rightarrow 2\left(r \times \frac{(r - \sqrt{1r})^2}{4} - 1\right) - 1r \left(\frac{r - \sqrt{1r}}{2}\right)$$

$$\sin B \cdot \sin C = \cos^2 \frac{A}{r} \quad B = 2\sqrt{r} \rightarrow (A + \sqrt{r}) - \sqrt{r}$$

$$\sin \sqrt{r} \cdot \frac{\sin(10^\circ - A)}{\sin(A + \sqrt{r})} = \frac{\cos A + 1}{r} \rightarrow r \sin \sqrt{r} \cdot \sin(A + \sqrt{r}) = \cos(A + \sqrt{r}) \cos \sqrt{r} + \sin(A + \sqrt{r}) \sin \sqrt{r} + 1$$

$$* \sin(A + \sqrt{r}) = b$$

$$\cos(A + \sqrt{r}) = b$$

$$r \sin \sqrt{r} \cdot a = 1 + (b \cos \sqrt{r} + \frac{1}{a} \sin \sqrt{r}) \rightarrow a \sin \sqrt{r} + b \cos \sqrt{r} = \frac{1}{r}$$

$$\sin^2 \sqrt{r} + \cos^2 \sqrt{r} = 1 \xrightarrow{\times \sin \sqrt{r}} (1 + b \cos \sqrt{r})^2 + b^2 \sin^2 \sqrt{r} = \sin^2 \sqrt{r} \rightarrow (b + \cos \sqrt{r})^2 = 0$$

$$a = r \sqrt{r}$$

$$* b = \cos(A + \sqrt{r}) = -\frac{\cos \sqrt{r}}{-\cos 10^\circ} = \cos 10^\circ \rightarrow A + \sqrt{r} = 10^\circ \quad b = -\cos \sqrt{r}$$

$$x = \frac{r}{r} \Rightarrow \left(\frac{r}{r}\right)^2 - \frac{r}{r} \sin \alpha - \frac{c \cdot s^2 \alpha}{r} = .$$

2

$$\frac{r}{9} - \frac{r}{r} \sin \alpha - \frac{(1 - \sin^2 \alpha)}{9} = . \rightarrow \frac{9 \sin^2 \alpha - 9 - 28 \sin \alpha + 14}{34} = .$$

$$9 \sin^2 \alpha - 28 \sin \alpha + 14 = . \xrightarrow{\text{نمونه}} \sin^2 \alpha - 28 \sin \alpha + 14(9) = .$$

$$(\sin \alpha - 14)(\sin \alpha - 1) = . \rightarrow \sin \alpha = \frac{1}{14} \text{ و } \frac{1}{1}$$

$$\sin \alpha = \frac{1}{14} \rightarrow c \cdot s^2 \alpha = 1 - \frac{1}{14} = \frac{13}{14}$$

$$1 + \tan^2 \alpha = \frac{1}{c \cdot s^2 \alpha} = \frac{1}{\frac{13}{14}} = \boxed{\frac{14}{13}}$$

9

$$\sin \alpha + 14 c \cdot s \alpha = 1 \rightarrow \sin \alpha = 1 - 14 c \cdot s \alpha \xrightarrow{\text{توان 2}} \sin^2 \alpha = (1 - 14 c \cdot s \alpha)^2$$

$$1 - c \cdot s^2 \alpha = 9 c \cdot s^2 \alpha + 14 - 14 c \cdot s \alpha \rightarrow 1 \cdot c \cdot s^2 \alpha - 14 c \cdot s \alpha + 13 = . \xrightarrow{\text{فرمول حلای}}$$

$$1 \cdot \left(\frac{1 + c \cdot s^2 \alpha}{1} \right) - 14 c \cdot s \alpha + 13 \rightarrow 14 + 14 c \cdot s^2 \alpha - 14 c \cdot s \alpha + 13 = .$$

(خواسته سوال)

$$14 c \cdot s^2 \alpha - 14 c \cdot s \alpha = \boxed{-1}$$